

$$f(x) = ax^2 - ax$$

$$f'(x) = 2ax - a$$

$$f''(x) = 2a$$

No.

Date

2 (1) $f(0) = f(1) = 0$ $f(x) = b(x^2 - x)$ (b : Const.)

$$f'(x) = 2bx, \quad f''(0) = 2a$$

$$\therefore a = b$$

$$\therefore f(x) = a(x^2 - x)$$

(2) $(f'(x) - x)^2 - f(x) = \{(2a-1)x - a\}^2 - a(x^2 - x)$

$$(4a^2 - 5a + 1)x^2 + (-4a^2 + 3a)x + a^2$$

$$\int_0^1 \{(f'(x) - x)^2 - f(x)\} dx = \frac{4}{3}a^2 - \frac{5}{3}a + \frac{1}{3} - 2a^2 + \frac{3}{2}a + a^2$$

$$= \frac{1}{3}a^2 - \frac{1}{2}a + \frac{1}{3}$$

$$= \frac{1}{3} \left\{ \left(a - \frac{1}{4}\right)^2 + \frac{15}{16} \right\}$$

$\therefore$ 式は $a = \frac{1}{4}$ 最小

$\therefore$ 求める値は $f(x) = \frac{1}{4}(x^2 - x)$, 2 最小値 $\frac{5}{16}$

13) $I - J = \int_0^1 \{2h'(x)f(x) - 2h'(x)x - h(x)\} dx$

$$2\{f'(x) - x\} = -x - \frac{1}{2}$$

$$\int_0^1 h'(x) dx = 0$$

$$\int_0^1 h'(x) \cdot x dx = [h(x) \cdot x]_0^1 - \int_0^1 h(x) dx$$

$$\therefore \int_0^1 \{2h'(x)f(x) - 2h'(x)x - h(x)\} dx = -\int_0^1 h(x) dx$$

$$= 0$$

$$\therefore I - J = 0 \therefore I = J$$

(4) $f(x) + h(x) = g(x)$ とすれば

$$(\text{全}) = I = J = \int_0^1 [(f(x) - x) - f(x)] dx + \int_0^1 (h'(x))^2 dx$$

$$(h'(x))^2 \geq 0 \therefore \int_0^1 (h'(x))^2 dx$$

$$J \geq \int_0^1 [(f'(x) - x) - f(x)] dx \geq m$$

$$\therefore \text{全} \geq m$$